


Competition rules:

The multimedia test contents 25 questions.

Duration of the test completing is 37,5
minutes. Every slide will be shown on the
screen for 1,5 minutes only.

Answering the questions are based on the
selection of the correct answer from the
given offer.

Answers will be evaluated using a point
system. Each answer has same value in
points.



Question 1

Which combination of names of famous sportsmen
and sportswomen shown in pictures is correct?

a) Yelena Isinbayev, Novak Djokovi¢, Erki Nool

b) Erki Nool, Petra Majdic, Arturs Irbe

c) Martina Sablikova, Goran Ivanisevic, Erki Nool
d) Adrian Mutu, Goran Ivansevic, Yelena Isinbayev



The figure shows political organization in Europe in:

a) 1902

b) 1921 _

c) 1939 Question 2
d) 1948



_ - i
Which American town listed below is not shown in the
picture?

a) Rio de Janeiro

b) Ciudad de México Question 3

c) Washington, D. C.
d) New York
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Question 4 — EJE gt i

Who from the sportsmen listed below is not shown in
pictures?

a) Alexandr Ovechkin
b) Virgilius Alekna

c) Adam Malysz

d) Janica Kostelic



Which country is presented by the video clip?

a) Island
b) Canada

c) Sweden Question 5
d) Finland



-
o

= N W = h g ~ @O @O
T T T T T T T T T

1960 1960 1970 1980 1990 2000 2010 2020 2030 2040 2050

Year

The graph above presents:

Question 6

a) rise of gold mining (in thousands t per year)

b) oil price on world market (in USD per liter)

c) growth of world population (in billions of people)
d) development of BDP of EU 15 (on 10%** EUR)



Animals shown in pictures live in:

a) Semi-desert and desert
b) tropical rain forest

c) subtropical evergreen forest Question r4
d) steppe



This symbol is related to:

a) the flag of the Ottoman Empire

b) International Red Cross Organization

c) space Program of Iran

d) Fertile Crescent Countries Organization

Question 8



Question 9

What mineral is being mined using technology
shown in the picture?

a) sodium salt
b) lignite

C) uranium

d) black coal



1 - o

-

This anamorphosis presents: .
P P Question 10
a) world population in 1970

b) millionnaire number (people owing more than 1 mil. USD) in 2006
c) industrial prodution of CO, in 2004

d) number WW2 victims in individual countries



What is the name of the famous French heritage shown in
the picture?

a) Pont du Gard
b) Versailles

c) Mont Saint Michel QueStiOn 11

d) Carcassonne



Question 12

What is the name of the state, where its capital city

comprises the smallest share of the total country
population?

a) Croatia

b) Poland

c) Czech Republic
d) Slovakia

e) Latvia




Question 13

What is the name of the country, where its capital

city comprises this biggest share of the country total
population?

a) Russia
b) Slovenia
c) Lithuania
d) Estonia
e) Romania
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Question 14

Select the year when the Winter Olympic Games
took place max. closely to the Equator?

\NERIET

b) 2000 \ \
c) 2002
d) 2004

e) 2006



Question 15

Select the year when the Summer Olympic Games
took place in the max. distance from the Equator?

a) 1952
b) 1962
c) 1976
d) 1980
e) 2000
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Question 16

2018 is the actual year. How many times took Summer
Olympic Games place on the Southern hemisphere?

a) never
b) once
c) twice
d) three times
e) four times




Question 17

What is an approximate size of the Netherlands?

a) 90x90 km

b) 160 x 160 km
c) 200 x 200 km
d) 260 x 260 km
e) 300 x 300 km




Question 18

Here are 5 combinations of four cities. Select the right one
represented by four annual variations of temperature (°C)
and precipitation (mm) below as they are aligned.

a) Buenos Aires, Hongkong, Kisangani, Moskva
b) Moskva, Hongkong, Buenos Aires, Kisangani
c) Moskva, Kisangani, Buenos Aires, Hongkong
d) Kisangani, Hongkong, Buenos Aires, Moskva
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Question 19

The satellite image of Florida presents:

a) willy-willy
b) hurricane
c) bagyo

d) typhoon




Question 20

The figures of the a) population density
World t: b) biomass production
orid present. c) average month air temperature by night

d) soil erosion intensity



Question 21

The animal shown on the picture lives mostly in:

a) New Guinea
b) Caribbean Islands
c) Madagascar

d) New Zealand




a)

b)

d)

Question 22

Erosion processes are dominated in the section:

A and D, sedimentation

processes predominate in the
section E

B, C and D, sedimentation
processes predominate in
sections A, E, F

G and sedimentation processes
predominate in the section H
No answer is correct




Question 23

Which state does not border the state whose
dominant feature is in the picture?

a) Belarus
b) Poland
c) Estonia

d) Latvia



http://upload.wikimedia.org/wikipedia/commons/2/29/Trakai-Troki.jpg

Question 24

Select a state whose population development
in 1961 - 2009 is shown in the graph.

a) Czech Republic

b) Romania

(Millions)

c) Hungary
d) Poland




A squirrel

What combination
of area color,
photography and
animal name is
correct (from the
top to the bottom)?

a) A2C
b) B3A
c) C1A
d) B2B

Question 25
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B reindeer

72

C lemming
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End of the multimedia test




